
=

2.7 Inequalities 
s~êá~ÄäÉëW=ñI=óI=ò=

oÉ~ä=åìãÄÉêëW=



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K
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126. fåÉèì~äáíáÉëI=fåíÉêî~ä=kçí~íáçåë=~åÇ=dê~éÜë==
=

fåÉèì~äáíó= fåíÉêî~ä=kçí~íáçå= dê~éÜ=
Äñ~ ≤≤ = [ ]ÄI~ =

=
Äñ~ ≤< = ( ]ÄI~ =

=
Äñ~ <≤ = [ )ÄI~ =

=
Äñ~ << = ( )ÄI~ =

=
Äñ ≤<∞− I=

Äñ ≤ =
( ]ÄI∞− =

=
Äñ <<∞− I=

Äñ < =
( )ÄI∞− =

=
∞<≤ ñ~ I=

~ñ ≥ =
[ )∞I~ =

=
∞<< ñ~ I=

~ñ > =
( )∞I~ =

=

127. fÑ= ~ > Ä I=íÜÉå= Ä < ~ K=
=
128. fÑ= ~ > Ä I=íÜÉå= ~ − Ä > M =çê= Ä− ~ < M K=
=
129. fÑ= ~ > Ä I=íÜÉå= ~ + Å > Ä+ Å K=
=
130. fÑ= ~ > Ä I=íÜÉå= ~ − Å > Ä− Å K=
=
131. fÑ= ~ > Ä =~åÇ= Å > Ç I=íÜÉå= ~ + Å > Ä+ Ç K=
=



132. fÑ= Ä~ > =~åÇ= ÇÅ > I=íÜÉå= ÅÄÇ~ −>− K=
=
133. fÑ= Ä~ > =~åÇ= Mã > I=íÜÉå= ãÄã~ > K=
=

134. fÑ= Ä~ > =~åÇ= Mã > I=íÜÉå=
ã

Ä

ã

~
> K=

=
135. fÑ= Ä~ > =~åÇ= Mã < I=íÜÉå= ãÄã~ < K=
=

136. fÑ= Ä~ > =~åÇ= Mã < I=íÜÉå=
ã

Ä

ã

~
< K=

=
137. fÑ= Ä~M << =~åÇ= Må > I=íÜÉå= åå Ä~ < K=
=
138. fÑ= Ä~M << =~åÇ= Må < I=íÜÉå= åå Ä~ > K=
=

139. fÑ= Ä~M << I=íÜÉå= åå Ä~ < K=
=

140. 
O

Ä~
~Ä

+
≤ I==

ïÜÉêÉ= M~ > =I= MÄ > X=~å=Éèì~äáíó=áë=î~äáÇ=çåäó=áÑ= Ä~ = K==
=

141. O
~

N
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142. 
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~ ~ ~
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N O å
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≤

K
K I=ïÜÉêÉ= ~NI ~O IKI ~å > M K=

=

143. fÑ= ~ñ + Ä > M =~åÇ= ~ > M I=íÜÉå=
~

Ä
ñ > − K=

=

144. fÑ= ~ñ + Ä > M =~åÇ= ~ < M I=íÜÉå=
~

Ä
ñ < − K==

=
145. ~ñ O + Äñ + Å > M =
=



= M~ > = M~ < =
=
=
=

Ma> =

=

=

Nññ < I= Oññ > =

=

=
=

ON ñññ << =

=
=
=

Ma= =

=

ññN < I= Nññ > =

=
=
∅∈ñ =

=
=
=

Ma< =

=

=
∞<<∞− ñ =

=
=
=
∅∈ñ =

=

146. ~ + Ä ≤ ~ + Ä =

=
147. fÑ= ñ < ~ I=íÜÉå=− ~ < ñ < ~ I=ïÜÉêÉ= ~ > M K=

=
148. fÑ= ñ > ~ I=íÜÉå= ñ < −~ =~åÇ= ñ > ~ I=ïÜÉêÉ= ~ > M K=

=

149. fÑ= ñO < ~ I=íÜÉå= ñ < ~ I=ïÜÉêÉ= ~ > M K=

=

150. fÑ= ñO > ~ I=íÜÉå= ñ > ~ I=ïÜÉêÉ= ~ > M K=



=
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( )
( ) M
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